
1. 3x(x + 2y − 4) = Ax2 + Bxy −Cx일 때, A + B + C의 값은?

① 2 ② 3 ③ −3 ④ 21 ⑤ −4



2. a =
1

7
, b = −1

5
일 때, 3(a + b) − (4ab2 − 6a2b) ÷ (−2ab) 의 값을

구하여라.

답:



3. −3x(x−2y−1) = Ax2+Bxy+Cx일때, 상수 A, B, C의합 A+B+C
의 값은?

① −6 ② −5 ③ 0 ④ 3 ⑤ 6



4. (2x2 − 3x − 5) − 3(x2 − x + 4) = Ax2 + Bx + C 일 때, A + B − C 의
값을 구하여라.

답:



5. x = 2 , y =
1

3
, z = −4 일 때,

xy2z − 2x2y + 5yz2

3x2yz
의 값을 구하여라.

답:



6. (6x2y − 4xy2) ÷ (−2
3

xy) 을 간단히 하면?

① 9x + 6y ② 9x + 6y2

③ −9x + 6y ④ −9x3y2 + 6x2y3

⑤ 9x3y2 − 6x2y3


